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1. If the arithmetic mean of first n natural
numbers is 100, then n is

(A) 196
(B) 197
(C) 198

(D) 199

2. The absentee record of students in a given
term is as follows. If the mean absentee
for the term is 15.5, find the frequencies
'x"and ‘y’.

Numberof |0-5|5-10 |10 -15 | 15-20 | 20-25
Days

Total
Number 15 16 X 8 Yy
of Students

Number

25-30 [ 30-35| 35 —40 | Total
of Days

(A) x=4,y=3

(B) x=7,y=7 0
(C) x=3,y=4 %
(D) X=7,y=6 @

3. Find the missing number.

3 5 2 & 3 9
102 105 ?
2 8 4 g 3 6
(A) 105
(B) 151
(C) 210
(D) 117
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4. Some letters are given which are numbered
1,2, 3,4, 5 and 6. Find the combination of
numbers so that the letters are arranged
accordingly to form a meaningful English
word.

1 2 3 & 5 6
0 N | W[ R E D

(A) 321456
(B) 231456
(C) 312654
(D) 314265

5. If ‘City’ is cd ‘Village’, ‘Village’ is called

est is called ‘Building’, then

v

wh ers live ?
( ity ™

Village

Forest

D) Building

Total Number 8 6 4 70 &
of Students
irections (Question No. 6 = 10) : Read the

following excerpt and answer the questions asked
at the end. The answers to the questions should
be based on the excerpt.

Although water covers approximately sixty seven
percent of the Earth’s surface, of this less than
three percent is fresh water. Accounting for fresh
water locked in glaciers, ice-caps or otherwise
inaccessible, less than a tenth of a percent of the
Earth’s water is available for human consumption.
Pollution, population growth and wasteful irrigation
practices are contributing to a worldwide water
shortage. When the clear precious liquid becomes
scarce, countries begin to assert claims on fresh
water supplies. As a result, drinkable water has
become a region of conflict that could eventually
lead to greater hostilities between nations.

Some countries such as the United States, have
ample sources of water. In other nations, such as

[ PT.O.
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China, water is less plentiful. As water resources
dwindle, competition for available sources will
rise. Nations may claim rights to a particular body
of fresh water or they may plan to build dams and
other projects on rivers. If two or more nations
which disagree on water rights or building projects,
conflicts can emerge. In order to combat this issue
many countries are adopting water conservation
and security solutions. The United Nations has
implemented programs to combat potential issues
that could lead to violence.

6. What is the main focus of this passage ?

(A) It is important to conserve water
because only 3% of the water on earth
is drinkable

(B) China will fight with America for
controlling fresh water sources

(C) Most fresh water is locked in glaciers
and ice-caps

(D) Water is limited and shortage§ will
likely lead to conflicts

7. What percent of surfacefearth covered
with water, is availabé€ for human
consumption ?

(A) 0.1%

(B) 0.001%
(C) 0.67%
(D) 0.067%

8. Which of the following could be probable
reason for hostility among nations in future ?
(A) The fact that America has ample
sources of water

(B) Assertion of claims on fresh water
supplies in future

(C) China intends to claim on fresh water
sources as it has less sources than
America

(D) In-equilibrium of arms among various
nations

S/F/P/11/2020/ I-A

9.

10.

11,

Which of the following may definitely not

be concluded from the passage ?

(A) Upto about three percent of water
may be for human consumption by
accounting all possibility

(B) About 97% of water is unusable for
human consumption

(C) Water crisis may trigger an arms race
among nations in future

(D) Water crisis may possibly end up in
creating a hostile relationship among
countrigs

Whatvould be the most effective solution to
aveid future conflicts among the nations ?

(A) To destroy all weapons
(B) To sign pacts on water rights
(C) To conserve water

(D) Tomake United Nationsamore effective

body in handling these issues

How many total triangles are there in the
following figure ?

(A) 16
(B) 18
(C) 20
(D) 24

[ PT.O.
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12. Certain numbers are given inside/outside 45 |1 cortain code language, FOA = 5

l space marked with question mark (?). @ Al=?

the square box according to a particular
rule. Identify the correct option to fill in the 0O-=o. @ =125 and| O | =16, then
27 56 27 (A) 89
36219 81} 1 19 36] ? |3 (B) 100
7 9 (C) 144
(A) 1 (D) 2304
(B) 3 Directions (Questions 16 — 20) Read the following
(C) 9 excerpt and answer the questions asked at the end.
The answers to the questions should be based on

(D) 12 the excerpt.

Photographic evidence suggests that liquid water
once existed in great quantity on the surface of

13. In the following figure, four images are Mars. Two type ow features are seen: runoff
similar in a certain way. Find the odd one channels and o hannels. Runoff channels
image of these. are found e Sputhern highlands. These flow

feature, nsive systems — sometimes
P Q R S T hunv% kilometers in total length — of
nt

interconnecting, twisting channels that seem to
N larger, wider channels. They bear a
st semblance to river systems on Earth and

ogists think that they are dried-up beds of

(A) Q -gone rivers that once carried rainfall on Mars
(B) R from the mountains down into the valleys. Runoff
(C) S channels on Mars speak of a time 4 billion years
D) T ago (the age of the Martian highlands), when the
atmosphere was thicker, the surface warmer and
liquid water widespread.
4. Tnd it the Sarnae TS —- Outflow channels are probably relics of catastrophic

S : flooding on Mars long ago. They appear only in
(vertical) image of ghe fol g figure. equatorial regions and generally do not form

extensive interconnected networks. Instead, they

are probably the paths taken by huge volumes

of water draining from the southern highlands

into the northern plains. The onrushing water

arising from these flash floods likely also formed

g the odd teardrop-shaped “islands” (resembling
the miniature versions seen in the wet sand of

>q§< % >§< % our beaches at low tide) that have been found
on the plains close to the ends of the outflow

channels. Judging from the width and depth of
(a) (b) (c) (d) the channels, the flow rates must have been truly
enormous—perhaps as much as a hundred times

(A) b greater than the 105 tons per second carried by the
(B) a great Amazon River. Flooding shaped the outflow
(C) d channels approximately 3 billion years ago, about
D the same time as the northern volcanic plains
(D) ¢ formed.

S/F/P/11/2020/ lI-A 7 [ PT.O.
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16. In which of the regions are flow features  20.

seen on Mars ?

(A) Western plains

(B) Northern highlands
(C) Southern plains

(D) Southern highlands

17. What does the discussion in paragraph of
runoff channels in the southern highlands
suggest about Mars ?

(A) The atmosphere of Mars was once
thinner than it is today

(B) Large amounts of rain once fell on parts
of Mars

(C) The river systems of Mars were once
more extensive than Earth’s

(D) The rivers of Mars began to dry up
about 5 billion years ago

18. The amount of water flowing downsthe
outflow channels on Mars is esti to

be closest to

(B) 105 tons
(C) 10500 tons per se€o
(D) 10500 tons

19. Accordingto raph, all of the following
are true of t utflow channels on Mars
except
(A) They formed at around the same time

that volcanic activity was occurring on
the northern plains

(A) 105 tons per second OV -

(B) They are found only on certain parts of 22.

the Martian surface

(C) They sometimes empty onto what
appear to have once been the wet
sands of tidal beaches

(D) They are thought to have carried
water northward from the equatorial
regions

S/F/P/11/2020/ 1I-A 9

In paragraph, why does the Author include
the information that 105 tons of water flow

through the Amazon River per second ?

(A) To emphasize the great size of the
volume of water that seems to
have flowed through Mars' outflow

channels

(B) To indicate data used by scientists to
estimate how long ago Mars' outflow

channels were formed

(C) To that flash floods on Mars may
@e‘ een powerful enough to cause

/% ear-shaped “islands” to form
V M To argue that the force of flood waters

on Mars was powerful enough to shape

the northern volcanic plains

A animal is one that is active
primarily during the twilight period.

(A) Crepuscular
(B) Diurnal
(C) Nocturnal
(D) Auroral

A person who talks in sleep is called as
(A) Philatelist

(B) Somnambulist

(C) Somniloquist

(D) Oneirocritic

[ PT.O.
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23.

24,

25.

26.

Choose the correct alternative which can
be substituted for the below underlined
phrase.

She was reading from a list that contained

almost all the known idioms and phrases
of English.

(A) Magazine

(B) Gazette

(C) Dictionary

(D) Glossary

listening is also called as critical
listening.

(A) Therapeutic
(B) Discriminative
(C) Empathetic

(D) Evaluative

The document that is usefl togommunicate
within the organizatién is called

(A) Letter
(B) Memo
(C) E-mail
(D) Telex

The correct synonym for ‘Slumber’ is
(A) Sleep
(B) Shiny
(C) Steer
(D) Seller

S/F/P/11/2020/ 1I-A

27

28.

30.

31

11

Ofthe words given below, three are synonyms.
Choose the odd one out.

(A) Lethargy
(B) Energy

(C) Activity
(D) Spirit

Choose the prefix that should be added to
the word ‘Legible’ to form its antonym.

(A) dis
(B) mis
(C) in
(D) €l

Fill inthe blank with correct collective noun.
Asschool of

(A) Fish
(

(
(D) Cubs

w

) Tiger

A

) Boys

Choose correct meaning of the Idiom
‘Spin ayarn’.

(A) Do weaving work

(B) Be acunning craftsman

(C) Stay silent

(D) Tell a long and far-fetched story

\dentify the disadvantage of oral

communication.

(A) Immediate feedback is possible

(B) Listener’s reaction is observed

(C) A considerable amount of money and
time is spent

(D) Speaking to friends become easy

[ PT.O.
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32. A communication process includes the  36.

following sequential steps.

(A) encoding, transmission and decoding
(B) transmission, encoding and decoding
(C) decoding, transmission and encoding

(D) decoding, encoding and transmission

37.

33, is used by managers to assign
goals; provide job instructions; inform
about policies, procedures and practices ;
provide performance feedback; point out
problems.

(A)
(B)
(€)
(D)

Downward communication
Upward communication
Horizontal communication

Both (B) and (C)

A

34.
required by a job depends on

(A)
(B)

How complex the task i

Different kinds offéx %possessed
by the peoplesdnvolyve
The degree ty with which job

outcomes can Be predicted
All of the above

(C)

(D)

35. The metaphor “emotional bank account”  39.

refers to

(A) The amount of trust that has been built
up in a relationship

The amount of emotions one has

An account with emotional bank
None of the above

(B)
(€)
(D)

S/F/P/11/2020/ I-A 13

38.
The depth of interpersonal rw

2 Fologi

If the 02/04/2021 is Friday, then which of
the following would be the 22" day of the
next month ?

(A) Friday

(B) Saturday

(C) Sunday

(D) Monday

If P and Q interchange their positions and
S and R interchange their positions. Then
S and Q move diagonally and meet at the
centre. P isin of S.

S R

Q
(A %st
@ut -West
Ch N
@)) North-West

orth-East

Which of the following does not have a line
of symmetry ?

(A) a
(B) b
(C) €
(D) d

Which of the following options is correct ?
(A)
(B)
(C)
(D)

Mihika bought dozen eggs.
Mihika bought the dozen eggs.
Mihika bought a dozen eggs.

Mihika bought an dozen eggs.

[ PT.O.



40. (st v d ) Freferfiaa o & #9-ar faeey
e ?
(A) Wit 39 T gged |
(B) = 89 g fem <57t |
(C) Bt fw e fem gt |
(D) Ut A7 e T g5t |

41. UF # W ¥ YE F& 3 Al HAW:

6.25 foh. o1, ufe w2 3w 7.75 for ot wfa =2
FIfd & 9ot & | afe 3 e 2 fown o wer
&, @ 3% 19.5 .. T om # fa v
T 7
(A) 172
(B) 22%%
(C) 13
(D) 12°%%
42. afe 9wy 8w wtfem s ek 8 i # 1/3
ATt T 1 W o TGN B
4 f&=1 | g =R a7
(A) 23
(B) 32
(C) 36
(D) 46

Ifd BRANCH 1 &= DTCLAF & 8, a1
fraferfaa 4 @ s9-1 g ga9y 3fia
FATR 7

(A) PCQAWG : RESCUE

(B) NATION : CYRGMK

(C) DPGGPF : FRIEND

(D) NORMAL : ALTFCD

43,

S/F/P/11/2020/ I1-A
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44, /YA .

(a) Tt game Hidh Bt & |

(b) ¥t firarsat dma & foo =2 arefi € |
ﬁm:

(i) T ferEizad € |

(i) =h1s Torars amg =& 2 |

(ili) Fo ¥ed & fore o=t e qag € |
(iv) G+ dea & fo er=a fiersai za & |
fau e e % fore Iude § & 1 -w Freed
wEl g %

(A) o (I STEroT <hiem 2

(BY WYETT & & 1 oft argeror s

(CINFES (i) 3T (i) T80T e 2

WD) i i & 18 +ft srgeror @ w2

45,

46.

Q1F, S2E, U6D, W21C, ?
(A) Z88B

(B)
(€)
(D)

Y66B |
Y44B
Y88B

gfe 19 T & 9HEH ¥ U EEE 3deh

@ 8, at 319 = 7

(A) IEHEE @ & dfEa F g g
1

(B) =di sl 7 Wl sl SdTaHT 21

(C) FSI-37aTSl &L F8T § G A S

(D) ST gelreh % FaTRHT H Gled
Eaul
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40.

41.

42.

43.

Which of the following options is correct ?
(A) Every man knows his duty.

(B) Each man knows his duty.

(C) Many man knows his duty.

(D) Any man knows his duty.

Two persons starting from the same place
walk at a rate of 6.25 kmph and 7.75 kmph,
respectively. What time will they take to
be 19.5 km apart, if they walk in the same
direction ?
(A) 17 hrs
(B) 22hrs
(C) 13 hrs
(D) 12hrs

If 9 men completed 1/3" of a work in 8\days
working 8 hrs per day, how many moréynen
should be engaged to finish the rést of the
work in 4 days working oné extfa hour a
day ?

(A) 23

(B) 32

(C) 36

(D) 46

Which of the following indicates similar
relationship as BRANCH has with DTCLAF?

(A) PCQAWG : RESCUE
(B) NATION : CYRGMK
(C) DPGGPF : FRIEND
(D) NORMAL : ALTFCD

S/F/P/11/2020/ 1I-A
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45,

46.

Statements :
(a) All medicines are sweet.
(b) All sweets are good for health.

Conclusions :

(i) Some sweets are medicine.
(i) No sweet is a medicine.
(iii)
(iv)

Which of the above conclusions is correct for

Some healthy sweets are medicine.

All healthy sweets are medicine.

given statements ?

(A) Only (i) follows

(B) Eitherf{iYor (ii) follows
(€) Only (i) and (iii) follows

(D). ‘None of the above follows

Q1F, S2E, U6D, W21C, ?
(A) Z88B
(B) Y66B
(C) Ya4B
(D) Y88B

If you see a manhole in a residential locality
during the rainy season and kids are playing

around, what will you do ?

(A) Inform Secretary of residential society

immediately
(B) Warn the kids not to play
(C) Ignore it and just walk away

(D) Inform the Security of the building

| BT.O.
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47.

48.

49.

HTIeh! U1 STl & foF SAT9eR1 Te I COVID-19

yitsfea 2, @119 =1 i1t ?

(A) 379 TSI 1 IeETE T

(B) 319 ATV F YR T ZATFAT Tl

(C) 3fua Aftrmft & w3 # o et 3
TeITE o % foru e

(D) 38 fordlt @ oft 1 =™ of = & ofat @
T o fore e

9 v e forg w® € o ag 9 € 6
TieT o SR STTehT Tl 37587 31 Tl L
weaRer I ar wifta 1=
e it & =9 | 37 Far ) ?

(A) 379 SRt Rl GHeTT & W12 Tohel A8 B
% fou geme 3, F9ifE 3 98 e
A A 3HeRT Wi @e 8 s

(B) ﬁmmmqﬂ’faﬁw
Ferl

(C) m—aiamaﬁﬁa&iﬁaa
=BT S ©

(D) 3ueh s A Flters

319 YT | % V] A U1,

Iy feufa oWy 3 ofi weifen & 1000 @

TR W | 377d & | Uk iRt & §9 4

a1y =t o & fof =i S wea & 7

(A) Sretamg @i ot fafeear wemar ot
IS 1 SqaeyT Fl

(B) ifea =i =1 faeia wee it won

(C) wsfirivl =t gaférd T W TyTTEAlE
il

(D) F® sft TE i ifeR Wen & wrel a2

S/F/P/11/2020/ II-A
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50.

51.

53,

T € H 79 U e gunE § wive e

AR &, 39 T H4T 7

(A) 1ot Frarfie nfafafee = gia e s
Eul

(B) f% ufereeifesr &1 <t %1 & 9 Uah HwdTe
& 70 ot W FameT &

(C) T FIf-19 wteqvr = foru Sweqarer sian

(D) wfce sg™ et gand o

SISt T ¥ o T e W T i Her ¢
% foru g |
( AT 31T 2o wIga &1 |
i1 wrgg w31 fohet |
74 fahelt 37 2ddt wiga w94 |

@\D) T fhert 31 et wiga =i |

(=Brht s ) = form fom S AR 4 |
(A) °'Z I 4 EATEH g 2d B SFHRe |
(B) 8 JE Y AT % &9 B SHHI |
(C) =& T 9 WA G 39 BT SHHRE ?
(D) = 3 Y TIEH, T ¥ B SeFhmee 7

(st T o) welt ‘snféwer gm & w1y faa

T |

smfdfgte el |
(A) 3/3

(B) B/amfemet il seaa &l
(C) WA/

(D) %ﬁmaﬁwwﬁ/aﬁaﬁsﬁm

R




et

47.

48.

49,

You come to know that your neighbour is
COVID-19 positive, what will you do ?

(A)
(B)

Cheer up your neighbour
Prescribe medicines based on your
experience

(€)

Ask him to report the matter to and take

advice from appropriate authorities
(D) Ask him not to tell to anyone and stay

home quarantine

You are writing an examination and you
notice that your best friend is cheating
during the exam and the invigilator has not
noticed it. As a responsible citizen, what will
youdo ?

(A) After the exam you will advise your
friend not to cheat because if he gets
caught then his future will be spoiled
(B) Will ask him to pass that chit to 6§\ 52.
(C) Willignore as he is your be W
(D) gilator

Complain about him%h-
Because of con s in your city there
is a problem of Water logging, unhygienic

conditions and more than 1000 cases of
Dengue and Malaria are reported. As a
Corporator to which of the following things
you will give importance ?

(A) Arrange for medical support and food
to needy people

Announce financial help to people who
have suffered

Relocate all citizens to safer place
Not do anything as it occurs every
year

(B)

(€)
(D)

S/F/P/11/2020/ II-A

50.

51.

N

53.

Recently you attended a wedding function
and returned home, what will you do ?

(A) Resume your routine activities

immediately

Undergo quarantine at home for at
least a week if asymptotic

(B)

(C) Immediately visit the hospital for

COVID-19 testing

(D) Take immunity boosting medicines

Find the correct answer for ‘How much are

these ma s ?'
(A) I%wenty five rupees.
& enty five rupees a kilo.

ne kilo in twenty five rupees.
One kilo on twenty five rupees.

Choose the sentence with correct
punctuation.

(A) What would you like to have for
Breakfast !

What would you like to have for
Breakfast.

What would you like to have for
Breakfast ?

What would you like, to have for

Breakfast ?

(B)
(€)

(D)

Fill in the blank with correct article pair.
My uncle visited Andaman and
Nicobar Islands and Kerala.

(A) the/the

(B) the/ article not needed
(C)
(D)

an /a

article not needed/article not needed

[ PT.O.
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54. (3t v ) wet ferea & wny fraa T
i |
S R=C0 AT UTE |
(A) aTeFg
(B) wEE
(c) feaud
(D) 7&

(a7t v o) e foehew & a1y fa wm
i |

3o faehm HATFA T Tardl |

(A) BY ST

(B) SSelt FiEA

(C) 2T

(D) TTH=H

55.

13 @ 8 siwrn & swTen o FF-aT A
=ifed 7
2,1,(2/3),(1/2), ?
(A) 1/3
(8) 1/4
(C) 3/4
() 2/5

56.

3t difet aret TE TTH A, B, C,
D, E 3 F &, ford ot gow afit o7 wfeemd
2 | 37 Faw 9t fanfea 912 € s s @
feanfea & | £ AR 92 R 3B, chl T

2 I EWE Afqarfed geu 2 SR D [ 2 |
Freafafea g @ sm-madi 2 7

57.

A
\/
&

58. U fohae & U Y3 wrel T 2, o g
T Tl |, U8 JS i IS 1/ IE
2 | afe 9 g3t o w5 AT 195 8, A v
g0 g § Frafafes & @ $m-di gen @ 7
(A) 3,4
(B) 5,6
() 7,8
(D) 9,10

T et 3 T Afgen | FE,  grent |’ %

afa it sgw A el /== /and @ 1 afen
oY ° ?

28

et

59.

60. fr=ferfiaa syawen # sTqufeda sam F-9
7
BA_BA_BAC_ACB_CBAC
(A) AACB
(B) BBCA
(C) CCBA
(D) CBAC

39 U sMs fire 2, o soent ung
fireft @ 3 aom @vet Sfidi @ | 38 = ot
ek ST G T o fore Fgar ® | 3
T w7

(A) SRR G s 3T 3T i e

61.

(A) ¢ FTufa (B) T 1 71 3N 3 e i Fie i
(8) C, DU T (C) @fereR STt STt St 3 fore Srare St
(€) D siferafea @ (D) 1 % 4% Fi Fdm w0 & forg Foen
(D) g w2 AT
S/F/P/11/2020/ II-A 18
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54.

55.

56.

57.

S/F/P/11/2020/ lI-A

Fill in the blank with correct option. 58.

A snake on the ground.
(A) walks

(B)
(C)
(D)

slide
slithers

move

Fill in the blank with correct option.

Arun became after the robbery.
(A) death broke
(B)
(C)

(D)

deadly broken
break dead
dead broke

Which will be the next numberin the series
given below ?

60.
2,1,(2/3),(1/2), ?
(A) 1/3
(B) 1/4
(C) 3/4
(D) 2/5
A family of two'génerations consisting of
six members A, B, €, D, E and F has three 61

males and three females. There are only
two married couples and two unmarried
siblings. F is A’s daughter and B is C’s
mother-in-law. E is an unmarried male and
D is a male. Which one of the following is
correct ?

(A) Cis F’s husband

(B) Cis D’s wife

(C) Disunmarried

(D) None is true

19

59.

One page is torn from a book whose
pages are numbered in the usual manner
starting from the first page as 1. The sum
of the numbers on the remaining pages is
195. The torn page contains which of the
following numbers ?

(A) 3,4

(B) 5,6

(C) 7,8

(D) 9,10

A man said to a lady, “your mother’s
husband’s sister is my Aunt”. How is lady
related to the man ?

(A)
(B)
(C)
(D)

Sister

Daughter
Mother
Granddaughter

Which of the following alphabets are
missing in the arrangement given below ?
BA_BA_BAC_ACB_CBAC

(A) AACB
(B) BBCA
(C) CCBA
(D) CBAC

You received an SMS congratulating you
that you have won a lottery. It further asks
to share your contact information. What
will you do ?

(A) Share the information and wait for

reply

(B) Delete the message and report the
incident

(C) Will reply to ask for details

(D) Will plan for investing the prize money

[ PT.O.



62.

63.

64.

S/F/P/11/2020/ lI-A

19 74TS 3782 o Afdn aEw H & i e uv

(A) @ 3R Ao i qem w

(B) ST =Y 3eqT i

(C) form gu o o o & gre wurd 6t g
Fii

(D) i it Hrdars & forw s =t geea g
& qTE o S

39 U ¥fig A | 30 R AR AU W@ @

2 o5 U S s wrar-fudr = @ wr @

3T T@T R, 379 =1 HAN 7

(A) ==a I 39T F

(B) wraT-Tuar & foru = o1 3@ 37 +fie

(C) === = Frerean gfora o & @ s

(D) Gam Faanati o o S=< i TRE <
ST

AT A9 T Y UAE-H W =i 2,

L | T =T 7

(A) 38 WEE FE & Toru arefierdr @ g 9

(B) Teufa =i yfee & forw firy & ook & =1

(C) H9 ! AW L I8 B2

(D) 3T 39 fredeni =1 ¥4 9= 5@ 31y
EIECR

65.

66,

67.

AT % fore e srfafe o wa d smifia g
¢ | THTE | 9P o & fou s g9 T |,
AT 9Tt 2fther © MU § | 3719 4T A 7
(A) Teram =€ = Fifer 319 uek feyren & 31
(B) SATITSTeRI Rl shiet shidl, 379 feufa =& am
T FATe R AR F foh FaR T AL
(C) SATATSIH i Hict ek Tk Tga ah
S e T T S Rl
(D) STAISTER| BPehICT Fleh Iv¢ FIHsHH T8

W e =1 auiamen & forg 38R @ s
=feu 7

N T| (F ®{é . M
P, R} e b Beied oA

(A) O
(B) K
(C) H
(D) E

TF B¢ ¥ ST | ald 1 U |ug, e
& HHE % 919 HISE © | Afe Fa 12 i el
40 9§, 1 St | sHHen: fdd fewor sk
qde?

) 4,8
) 6,6
) 3,9
) 8,4

(A
(B
(
(D

B
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62.

63.

You are at Airport waiting lounge and
observe an unattended baggage for long
time, what will you do ?

(A) Open the bag and check for the owner

(B) lIgnore the baggage

(C) Inform the Security Incharge about
baggage without touching it

(D) Take the baggage to Security Incharge
for further action

You have come to a crowded fair and you
see one missing child looking for parents
and crying, what will you do ?

(A) lIgnore the child

(B) Look around for parents and gather
crowd

(C) Take the child to the nearest police
station
%

(D) Take the child to own house

safety concerns

You received an e-mailN#@m wour friend
ransfer some

nt situation. What

requesting you
money due to an eme

will you do ?
(A) Send money on priority to help him out

(B) Tryto contact the friend to confirm the

situation
(C) Ignore and delete the message

(D) Send money to his relatives you know

S/F/P/11/2020/ II-A

65.

66.

67.

You are a Director of a school and invited as
a chief guest for an annual function of the
school. On the way to attend the function,
you got stuck in heavy traffic. What will you
do?

(A) Will not worry as you are a Director and
people can wait until your arrival

(B) Call the organizers and update about
your situation requesting not to wait
(C) Call the organizers and request them

to wait until your arrival

Call the izers and tell them to
ca 5@'- d eschedule the event

(D)

\\h alphabet letter should replace the
tion mark ?

F H G M
y L ? |
(A) O
(B) K
(C) H
(D) E

A group of parrots are present in a small

forest along with a group of deer. If there
are total 12 heads and 40 legs, how many
deer and parrots are there in the forest
respectively ?

(A) 4,8
(B) 6,6
(C) 3,9
(D) 8,4

[ PT.O.




foder (e g 71 - 80) : e fRu e weHi A v e
3R FegvaTq 2 e /aren . | A e d s W

L, Forame it st 7 7t o - foee @ R |
T =1
=
== 71, Fo S 2t E | S It et TR
ek / (9oTT) | FB AN AT |
1Al @ ek / (Ao 11 ;S T e T R
(g) : (A) e | gHTEETTel B
((D; . (B) o || IHESIEA ®
(C) T | 3T || g &
69. frfi i F e aiRsm s dia s i3t | (D) 3R 7 € 7 || geTEeTe
afe 39 f=1 & ofw SR e 4 8 FgmE Sl
%,aﬁfﬁz{%aqw%n@ﬁ:rmw 72. | T T “T T ST R | EER
T | TISEd R |
(A) 7/10 @ rh / (STROTT) | : 3TTaFYa AR AT &) STrRfa
(B) 5/8 T FAE |
©) 811 & ek / (ST 11 ;0 TR T e A E
(A) T | STTHTOT AT B
(D) 10/13
V (B) T Il TG e &
) (C) e 1 3T 1| ST Fd B
T MRS RS, T . : - (D) ataeh | 3T & T 11 STFET F B
T, pF A H |
P
) 73. YU W1 ©; T i e o for e
HIYA F ATTIFATE |
weh / (umrom) |1 : wig B EfE e A
208 - FTEYAT R |
qQ S . e/ (sTROTT) 1 - FAe I o @ g P
FTEFAE |
(A) 25 (A) e Ffa
(8) 30 (B) = I fafEa @
(C) 45 (C) e | 3 | ffee &
(D) 60 (D) 7 ok | 3T & 7k 1 FAfea @
S/F/P/11/2020/ II-A 22
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68. The value of the following expression is

9_8_')(2_%_.-1_%:?

P

iy

6
(A) 1
(B) 4
(€) s
(D) 8

69. The difference between the denominator

and the numerator of a fraction is 3. If the
denominator as well as the numerator is

increased by 4, then fraction becomes i
Find the original fraction.

(A) 7/10

(B) 5/8

(C) 8/11

(D) 10/13

b QV
P 70. Using the information in th d

| PQ = PS, find out the value gf B in degrees.
} p
p 2

; 20
Q

} (A) 25
(B) 30
(C) 45
(D) 60

S/F/P/11/2020/ 1I-A

Directions (Question No. 71 - 80) : In each of the

questions below is given a statement and followed
by two arguments numbered | and Il. Consider
the arguments and decide which option is correct
answer.

71. Some desks are caps. No cap is blue.
Assumption | : Some caps are desks.
Assumption Il : No desk is blue.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither aswon I nor Il is strong
“Use ﬂq

72, lours. They add colour to our

life”, safd an advertisement.

tion| : Catchy slogans do not
people.

(A)

%;Eal%t
& Assumption Il : People like dark colours.

Assumption | follows

(B) Assumption Il follows
(C) Assumption | and Il follows
(D) Neither assumption | nor Il follows

73. Angeris an emotion; it needs special skills

as to control it.

Assumption | : Anger need to be
controlled.

Assumption Il : Only skillful people can
control it.

(A) Assumption | is implicit
(B) Assumption Il is implicit
(C) Assumption | and Il are implicit

(D) Neither assumption I nor Il is implicit

23 [ PT.O.
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74. UH 31 IR Fafchad &5 § Iagehal 3cd
FTER
ek / (T | : FIE o3 ga Fafshen e o
IeFHAT I e T 2 |
ek [ (UTOTT) 11 : T STCEH T qga ATt
e |
(A) T | fafea 2
() @ |l Fafea @
(€) @ 13 fafea

(D) AdT TS | Tk ka2

77. T € % &1 1 S /Zee & 3uam o
aeR |
ek / (MO | : 322 22T TEAT B AT |
ek / (LTOTT) |1 : SHSI3A & 99T | A STat
IHEAEE Y |
(A) @ | gaTerTTe 2
(B) & || wHTEIE B
(C) e | 3 || wvTETe &
(D) 1 aaeh | 3R T € ek || IEEIE @

78. 3T I THTEH 1 S S84 HeYl ¢ |

A/ ( ) | : Tehereh TETEA YR AT
75. GUAI ¥ 3 A1, ¢ M H SE &4 | %aﬂxl SR Tt il S
ek / (ermom) | ; aftada wEfa F fam R | ;e ) st T
@eh / (amom) 11 : gUH = s ww wifs R @3:mq;ﬁ\f(—qﬁrﬁ|
ATHE \(A) T | gaTEeTe &
(A) T | STTET LAl & @ (B) T || WTETEA @
(B) T Il BTGV Tl B (C) T | 3T | wvTarTTe! &

A

(C) e | 3T || STFET L &
(D) ¥ & e | 3T € @+

Fd &

76. TS RE e’ %&ﬁ@nﬂa@f
AR |
e/ (s Fegarana
3R gifera % foru vge wam w
k"W
T [ (SROT) 11 : YA F WAF A s
YIS WETH A1 U IUF1 i SgTa1 24 &1
R’ER
(A) T | gHTEET 8
(B) e Il AT B

(C) e | 3 I wTEeAt B
(D) 7t dh | AR A & 7k 1) g

S/F/P/11/2020/ 1I-A

(D) a1 weh | 3 T & e (1| wETe 2

79. Tl 3ITH GAR T BId & | FIS GARL T H
st et 7t At £
e / (s | aeft e e E
ek / (STROTT) 11 : GEL T W TR
TAE |
(A) T | goTEEITE B
(8) T I g B
(C) e | 3 || gt @
(D) a1 deh | 3T & T || T

80. FB TG T | TS HE AR T |
ek / (amom) | : FS qX AR E |
ek / (UROT) 1l : T SRR E |
(A) @ | FuTEITET B
(B) e || IMTESITEAT &
(C) ok | 3 11 wTEEeAT 8
(D) A | 3T & ek 1 e @
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74. A new medicine ‘ALPHA’ is causing
excitement in the medical field.

Assumption | : No other drug is causing
excitement in the medical field.

Assumption Il : Medicine ALPHA is a very
effective drug.

(A) Assumption | is implicit
(B) Assumption Il is implicit
(C) Assumption | and Il are implicit

(D) Neither assumption | nor Il is implicit

75. The old order changed, yielding place to
new.

Assumption | : Change is the law of
nature.

Assumption Il : Discard old ideas because
they are old.

(A) Assumption | follows

(B) Assumption Il follows

(C) Assumption | and Il follows

%rtant

ide universal
access to safe

76. ‘Swachchh Bharat Missio

initiative of the Govt. of |

Assumption | : Aim
sanitation coverage
sanitisation in India.

Assumption Il : Aims to promote and
provide clean toilet to each and every
household in India.

(A) Assumption | is strong
(B) Assumption Il is strong
(C) Assumption | and Il are strong

(D) Neither assumption | nor |l is strong
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vg.
(D) Neither assumption | nor Il fo@

77. WiFi/internet usage has sharply increased

in recent times.

Assumption | : Internet data has become
cheaper.

Assumption Il : During lockdown time,
people were afraid to go out.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor |l is strong
78. Conservation of natural resources is very

important today.

Assumption | ; Natural resources are

abundant and ption need not be

Assum uture generations will
dep upon the availability of the natural
resQurc

( umption | is strong

sumption Il is strong
Assumption | and Il are strong
(D) Neither assumption | nor Il is strong

All mangoes are golden in colour. No
golden-coloured things are cheap.

Assumption | : All mangoes are cheap.

Assumption Il : Golden-coloured mangoes
are not cheap.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

80. Some robbers are fools. Some fools are
rich.

Assumption | : Some robbers are rich.

Assumption Il : Some rich are robbers.
(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

[ PT.O.



pt

fdw (79 E. 819 85) : RU MMM & MR ™ gy, wiferer #) Wifes Feam w2 7

Frefafaa goi & 3w Afe | ") TR T

TR - 1 (B) & ! qa ST WS
frogg # Fa & w9 & Fraifia o fed ag A (C) 3= T ! e SR ST
wH e <1 e e eifera T W ae | fe (D) 3% S a1 Feror A

TR | 3Hh 2 W E - [y 3 I | gEE aT

WeRfd 1 HA o & 1 ST 31 WaRd & T

w9 | 3T e et AR FH I E M E R gy rfoy e i 2 35 v i e g 7
Fraifer e wmorfer & g il s & et 7@

fer e w ? | 3173 ar sfiqe 9T 3TTe Wi ST (A) Ffcrere
W IUgd U 1 S@H 3N 1 STl gue 3341 B 3 (B) &
FHTG T TS = H GAH A gY WL = & 3d %;,
T Firem & gre S @ | 98 TEiTR | ster

gt o e g e A s w1 AN

C

ey Hiwd wuga ¥ et fate faga St &
e 1 I T GvETes A H9 i
akhhulal Ni 84 I R R ?
| (A) Prram 3
(8) W=
(c) faframa
(D) FeA

85. ‘UHI % WEfdT & & 7

81. = WaHfq o Afem =g forad 2 7

(e (A) FC=E
(B) i (B) aAeHifE
(C) A PR Fwre 3 & (C) gerfiera
(D) @i # & foreft 7 oft et (D) wiferere
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p

sy (wew 9. 86 & 90) : fw 7T anw & MR W
frafafes yet & swdifse |

TR - 2

yedt % fafirr st # ame sfifae w & fow fafim
TR it anfde foramd e @ | 3 enfde fmana
ZT0 geAt 1 rfereRTer s g w9 & ufEfaa s TR |
5 st # qd § | SEer o1, adaE § a6l Fh
fifeufe famfia o <t 18 ? 9o el SeU @
2 71 fm ofrefires ufigwa famfem & mn R, =i &
wfaer geq Frar @ wafd g3 agaved § siel
TR | e it afeies franett & sgd G ae
e TR 3 T fafireT wrehfoes wameEt @ faao
AT TUITeRe FR ff W g1 @ | 39 YRR Wt A
g7 a3 it & A REi w1 ag=

88.

forehTa & W =1 4e WIS 2 | 37
TETYAT o TR F Ik ITM

Q~

86. Siifad A & R ara FIFw@R 7
(A) idier foramd
(B) HeHHOI
(C) TEmEAT T feraRon

HAT SR |

90.

(D) SgoT
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87.

89.

T % eTTfde faeT o i e AI9eTe
R 7

(A) Ff FH

(B) EETHH! =T TN qUT ITHRT A T
(C) =gt JegHuT

(D) wmETfSIER aftEdH

sfrenfires uftgwa & e & gftomsess w1
gam ¢

(A) ‘q
= e ® gfE

@\Wﬁ

[ 1 3 et w9 o # foran 7
(A) THehIE & ST T

(B) TTETET T

(C) gdarael sl

(D) @l &

il femanati o aftorreasy 0 gan 7
(A) EHET
(B) 31 &I
() wfre
(D) T

[ PT.O.




p

e (e 4. 91 9 95) : f3u MU MErTw F YR W
Frafafas gt & 3w i |

eI - 3

gfe favem srfamd s & an faren wfcs Y 3=1 W
Tl gl Tgh- TRl & foTe 39 s s &,
TR The 3 et R T8 1 e - e
Bl S 918 | 3, UG derEar sAuar faenfe
B oft s et Er| F g oft 37 wEaens aHEn S
Gohdl &, SAfe F81 99T Eaene 3% 78 & | fernfefat
1 Ge 9 UE FH FQ T Tifae, s snfide
wiftd B 7R 36 THE Thel qU1 it Waers a4 |
e arefia =t stfard s & e fre sraea
2 | et = enfefces arefm & wo-wy

W%ﬂﬁaﬂmﬁq,mw%ﬁmﬂ

TSI 36 a0 1 Hew SRS fepan

@1 ® - Bar 39 8 Y i aefm

finen =t w@aers a9H & fore | GEl
& Tl @ v ean feelf ;%agﬂam
o ofit gry-3am & o arufesar s
faem g #1 fa

91. Tere foru firan garw 7t 8 Whe SR eS|
1 ST B

(A) wfafea
(B) e
() Fe=
(D) Tt
S/F/P/11/2020/ 1I-A
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92.

93.

ferenféfa % fore am svgwa e i
HEEF 2 7

(A) &9 &1 TRE

(B) Tl fnen <t arfardan

(c) =fefce arefm

(D) @I W

Sirefirer arelm 1 sifad s |

94,

95.

(D) foreqr &1 wER

Toreen ame siveifiten arefin oft & st =nfe ?
(A) Hfard faven & @y

(B) el freqr & @y

(c) wfafce arefa = |1y

(D) TRl e & @1y

ST TSI S Hattae 3fea i
(A) e faren

(B) farened i foven

(C) wargerwi faran

(D) Toren =1 wew



e

ot (e E. 96 8 100) : Rumumenm & smam . 97, 3nyfis i HUR @ I @1 & FRO

Frefafaa weat & 3w i | T fHa AR I AR 7
S (A) EETOT T IR
(B) STTeHaRdT il 3T
HE 1 ATEAH AT ¥ U B o ot firew (C) T ¥ TafE Fred w9 Y 3K

358 = ® | 3%qq: TTeaie TE-gwl i gmron
ol B HERU H E I@H ST & | Sfat 3R
ST o H1Y FITETH o ToY S TH TWE TSI T
foh e TR e 9 g e & R A w98 ger 1 areay firen § fred i 2 7
FEOT R I € FeiATcHe Tl 1 3991 Ha fears (A) St E

Tl & 3R S7UH =TI Wehfd o s fafay e w9 (B) 3TTeHE

¥ offa Fig feafa 9 R | fig sramenss e o et g:

TS HTCHeh YT o T Shred B9 S8 - IU=AT, A1EH, e

Hiaar snyfrer @i g & 3a= a9El o JH |/ \

T 13 & fore wfee e 8t ard | 3t fefg A ==
e & fafay w9t it 3t 33q@ & @ st eI -3 o HTT Hed e R
*

(D) TEERTTGET & fafay w9t i 3R

Wepfer § eta: YeHTeHe 371 SR 2 ¢ |
e, fgets §8 99 ™ 9 @ aEl
ofte % saua ¥ fowfea gu g, ik

(A) FE

(B) HATcHERAT
%mw,aﬂgﬁaﬁmqﬁf% 3 (©) e
m;: ﬁm@%@ -y (D) sferera
2 100. TTEA) GSiHTCHe: HTNT 3 WO FTed ®9 | F:1
96. YEATCH I FEII T fererehl Bt B 7 gfeafera Tdi 2 7
(A) TEROT R ATHFYT FI (A) 3IT=TH
(B) Tuftd T w91 (B) ATEH
(C) Sfiat 3R qrenerT i (C) Fr=R

(D) EERTTGET & fafae wai i (D) Hfaar
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